S=Fa771vTa0I(P)
MINIATURE FITTING

mER B ABERTAE

Features How to Designate

@ RINANR—RAZRAPRISENT
Minimum space for maximum advantage.
@ BEIVN\HNTIARNIIY P AI — 3 2
Light and compact for cost-down of system. .
W i ¥ 1
Specifications - —
— SZFaATT1vT4VIVU—-XEES
ERARY ERF 1 —JICLDHROBEENELDHBENHBDEFITDT. N .
FEEROD | SRR L. a - BRAF1—IHE
The content of the specification may vary depending on working condition. Applicable Tube O.D.
Or the type of tube to be used.

3.2
o4
6
T e
B EEREME Part No. of Standard Type
Main Part Materials AZ/)\—=F)LITILR Universal Elbow
AZ\—YILF~« Universal Tee
L-7IvRITI L-Adjustable
EEE Metal SUS316 T-F7I v A5 T T-Adjustable
INyF Packing Teflon L-0=#4> L-Union
T-1=#%> T-Union
F7OVI\vF+Y Teflon Packing
[ | *Eﬁﬁﬁ“j‘ LD F /3=y Telescopic Hose Nipple
= Recommended Tightening Torque h—Z2=w I Hose Nipple
% R—Z IR Hose Elbow
7 mav4s /3=y 7)) Doble Telescopic Hose Nipple
?f M5 0.5~1.0 ERMTF Extension Joint
‘y : . .
7 R(PT)1/8 7~9 =yl Nipple
% R(PT)1/4 12~14 759 Plug
SR MO RBFD <, Jvoa Bush
= BZREUTEFRODE RANFEDTEICT2~3EEGRICHHELET, TJwva Bush
= RRUEBICIF Y —ILT—TRIE Y —LEIEZ CERLEEL,
9:; Please follow the recommended tightening torque.
7 Please use the seal tape or seal adhesive for R-screw.
7
e
W
7__
e
pA
J
P)

102



| 2=FaT7T4vF4VIP) |

(unit : mm)
AZ/)\—YI)LTILR
Universal Elbow
PAL PAL-3.2 3.2 M5X0.8 1.6 2.6 5 12 13.5 3.5 0.5 -
PAL-4 4 M5X0.8 1.8 2.8 5.5 12.5 13.5 3.5 0.5 -
PAL-6 6 M5X0.8 2.5 4.5 7 14 15 5 2 -
XEECDVTEBEVEDELEEL),  Please inquire of us about mass.
H7
-l FDUTZ/_ o
K h-Y
w
3~ 3
L
A
~ LN
07 B
L M5x0.8
(unit : mm)
B A | V2l
Universal Tee
PAT-3.2 3.2 M5X0.8 1.6 2.6 5 17 13.5 3.5 0.5 -
PAT-4 4 M5X0.8 1.8 2.8 515) 18 13.5 3.5 0.5 -
= . PAT-6 6 M5X0.8 2.5 4.5 7 21 15 5 2 -
XEECDVTRBEVEHDELEE L.  Please inquire of us about mass.
H7
i @ 2
3 ~ - - TR §I
t
- n T
B | O7 k
L N\ M5X0.8
L-7Iv A5 T T-7IvX5T)b
L-Adjustable T-Adjustable

PAL-M5A PAT-M5A

10 W7 13 H7
/_ /~
g sdacy
) N SR fan)
By 5 i - ! f-'c_u &J
~ Y o LC: . <
™ L:: ' ) HE
M5Xx0.8 M5X0.8

L-a=AY T-1=F2
L-Union T-Union

PCL PCT

15 fof

2-M5x08

10

E

"
il
518
D

3-M5%08

103



| E=Fa7T4v74VIP) |

(unit : mm)
F2720VI\vF*
Teflon Packing
TP TP-0.5 0.5
TP-1 1
TP-2 2
,J;---_‘_ 2;
b - [=2] -
\ <
: '::d...‘iJ” s
Sk
(unit : mm)
F/)2A=v I
Telescopic Hose Nipple
PTN-3.2 3.2 M5X0.8 1.6 2.6 5 1.5 -
PTN-4 4 M5X0.8 1.8 2.8 55 12
‘m. , PTN-6 6 M5X0.8 25 | 45 7 13.5
i ‘\ XBE2(CDVTIEFBEWVEDELEEL),  Please inquire of us about mass.
> )
htY
1 -
4 25 B
L
(unit : mm)

K—RAZ=Zw 7L

% Hose Nipple
J?‘f PFTN PFTN-4 4 M5X0.8 1.8 6.5 7.5 15.5 -
;;J' PFTN-6 6 M5X0.8 25 8.5 8.5 16.5 -
% XEECDVTIRBREVEDELEEL),  Please inquire of us about mass.

M5X0.8 HEX7

QAN AN R
™
[

ol
L

3
3

(unit : mm)

R—RATILK

Hose Elbow

PAFL

PAFL-4 4 M5X0.8 1.8 | 1565 | 6.5 12 8.5 7.5 15 5.5 -
PAFL-6 6 M5X0.8 25 | 175 | 85 | 135 | 95 8.5 16 6 -
XEECDOVTREBEVEDELEEL), Please inquire of us about mass.
HEX7
|
.
T iy —NT—&
w a8
'S
[Q¥/
HE
~ ; c
M5X0.8 #25 8
L

104



| 2=FaT7T4vF4VIP) |

(unit : mm)
mOv4 /3=y 7L
Doble Telescopic Hose Nipple
PDN
PDN-3.2 3.2 1.5 2.6 4 5 1 11 —
PDN-6 6 2.3 4.4 7 7 1 15 =
KEEBICOVTEBEVEHDE L EEL,  Please inquire of us about mass.
— (IR o
T e
|
B il B
L L
IERAKT
Extension Joint
PN-M5xM5L
M5X%0.8

Msx08/ _Ji
4

13 HEX7

—v7Ib 735
Nipple

PNS PPL

‘ M5><08 /—MSXOB M5X0.8 M1
i t

LI .[L.
4254 425
10.5 6.5

Jvya Jvya

Bush Bush

PBS PBS-1

PT ) H10 P1% HI4

S M5x038

105



